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I] Choose the correct option                   (𝟏 × 𝟏𝟓 = 𝟏𝟓) 

 

 

1. |
𝟏 𝒂 𝒃 + 𝒄
𝟏 𝒃 𝒄 + 𝒂
𝟏 𝒄 𝒂 + 𝒃

| = ?  

 
a) 1    ;         b)    -1    ;            c) 0    ;              d) 2 

 
 

2. |

𝟏 𝒃𝒄 𝒂(𝒃 + 𝒄)
𝟏 𝒄𝒂 𝒃(𝒄 + 𝒂)
𝟏 𝒂𝒃 𝒄(𝒂 + 𝒃)

| = ? 

 
a) 1    ;         b)    -1    ;            c) 2    ;              d) 0 
 

 

 

3. |
𝟏 𝝎𝟑 𝝎𝟐

𝝎𝟑 𝟏 𝝎
𝝎𝟐 𝝎 𝟏

| = ? , where 𝝎 is an imaginary cube root of unity. 

 

a) 1    ;         b)    3    ;            c) 0    ;              d) 2 
 
 
 

4. |
𝟏 𝝎 𝝎𝟐

𝝎 𝝎𝟐 𝟏
𝝎𝟐 𝟏 𝝎

| = ? , where 𝝎 is an imaginary cube root of unity. 

 
a) 1    ;         b)    0    ;            c) 3    ;              d) 2 
 
 
 

5. |

𝒙 + 𝒚 𝒙 𝒙
𝟓𝒙 + 𝟒𝒚 𝟒𝒙 𝟐𝒙

𝟏𝟎𝒙 + 𝟖𝒚 𝟖𝒙 𝟑𝒙
| = ? 

 

a) 𝒙𝟑  ;         b)   𝒙𝟐  ;            c)   𝒙   ;         d)   1 

 



 

6. |
𝒚 + 𝒛 𝒛 𝒚

𝒛 𝒛 + 𝒙 𝒙
𝒚 𝒙 𝒙 + 𝒚

| =  ? 

 

a) 𝟑𝒙𝒚𝒛    ;            b)    𝟒𝒙𝒚𝒛   ;     c)   𝒙𝒚𝒛    ;       d)   𝟒𝒙𝟐𝒚𝟐𝒛𝟐 

 
 

7. If |
−𝒂𝟐 𝒂𝒃 𝒂𝒄
𝒂𝒃 −𝒃𝟐 𝒃𝒄
𝒂𝒄 𝒃𝒄 −𝒄𝟐

| = 𝝁𝒂𝟐𝒃𝟐𝒄𝟐 , then the value of    𝝁    is   ? 

 

a) 1    ;         b)    2    ;            c)  3    ;              d) 4 
 
 

 

8. |

𝐥𝐨𝐠𝒙 𝒙𝒚𝒛 𝐥𝐨𝐠𝒙 𝒚 𝐥𝐨𝐠𝒙 𝒛
𝐥𝐨𝐠𝒚 𝒙𝒚𝒛 𝟏 𝐥𝐨𝐠𝒚 𝒛

𝐥𝐨𝐠𝒛 𝒙𝒚𝒛 𝐥𝐨𝐠𝒛 𝒚 𝟏

| = ?  

 

a) 1    ;         b)    -1    ;            c) 0    ;              d) 2 
 

 

 

9. If  𝒂, 𝒃, 𝒄 𝒂𝒓𝒆 𝒊𝒏  𝑨. 𝑷. , 𝒕𝒉𝒆𝒏 |
𝒙 + 𝟏 𝒙 + 𝟐 𝒙 + 𝒂
𝒙 + 𝟐 𝒙 + 𝟑 𝒙 + 𝒃
𝒙 + 𝟑 𝒙 + 𝟒 𝒙 + 𝒄

| =  ? 

 
a) 0    ;         b)    1    ;            c) 2    ;              d) 3 
 
 

10. |
𝟏𝟎𝟏 𝟏𝟎𝟑 𝟏𝟎𝟓
𝟏𝟎𝟒 𝟏𝟎𝟓 𝟏𝟎𝟔
𝟏𝟎𝟕 𝟏𝟎𝟖 𝟏𝟎𝟗

| =  ?  

 
a) -1    ;         b)    0    ;            c)  1   ;              d) 2 
 

 

 

11. |
𝟓𝟐 𝟓𝟑 𝟓𝟒

𝟓𝟑 𝟓𝟒 𝟓𝟓

𝟓𝟖 𝟓𝟔 𝟓𝟕

| =  ? 

 
a) 1    ;         b)    -1    ;            c) 0    ;              d) 2 
 

 

12. If |
𝒂 𝒃 𝒂𝒙 + 𝒃
𝒃 𝒄 𝒂𝒙 + 𝒄

𝒂𝒙 + 𝒃 𝒃𝒙 + 𝒄 𝟎
| = 𝟎 ,   𝒕𝒉𝒆𝒏  𝒂, 𝒃, 𝒄 𝒂𝒓𝒆 𝒊𝒏  −   

 
a) A.P.        ;         b)   G.P.        ;           c)    H.P.        ;   d)   None of these. 

 
 
 
 
 
 



 

 

13. |
−𝟏 𝐜𝐨𝐬 𝑪 𝐜𝐨𝐬 𝑩

𝐜𝐨𝐬 𝑪 −𝟏 𝐜𝐨𝐬 𝑨
𝐜𝐨𝐬 𝑩 𝐜𝐨𝐬 𝑨 −𝟏

| =   ?  , where A, B & C are angles of a triangle .  

 
a) 2    ;         b)    1    ;            c) -1    ;              d) None of these 

 
 

14. If 𝒙 + 𝒚 + 𝒛 = 𝟎 , 𝒕𝒉𝒆𝒏 |

𝟏 𝟏 𝟏
𝒙 𝒚 𝒛

𝒙𝟑 𝒚𝟑 𝒛𝟑
| =     ?  

 

a) 2    ;         b)    1    ;            c) 0    ;              d) None of these 
 
 

15. 𝒊𝒇 |
𝒙 − 𝟐 𝟐𝒙 − 𝟑 𝟑𝒙 − 𝟒
𝒙 − 𝟒 𝟐𝒙 − 𝟗 𝟑𝒙 − 𝟏𝟔
𝒙 − 𝟖 𝟐𝒙 − 𝟐𝟕 𝟑𝒙 − 𝟔𝟒

| = 𝟎 , 𝒕𝒉𝒆𝒏 𝒙 = ? 

 

a) 1    ;         b)    2    ;            c)  3    ;              d) 4 
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